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Problem 5


All solutions are for reference only. CUSA does not guarantee the accuracy of the contents.
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Date  Details  Dr. Cr. 

2008 $ $

Aug. 1 Allowance for doubtful debts  1,000

Debtors - Ann Koch  1,000

Being uncollectable debts from Ann Koch 

Sep. 12Allowance for doubtful debts  4,000

Debtors - Joe Yates  4,000

Being uncollectable debts from Joe Yates 

Oct. 10Debtors - Ann Koch  1,000

Allowance for doubtful debts  1,000

Being the doubtful debt recovery 

Oct. 10Bank 550

Debtors - Ann Koch  550

Being collection of debts from Ann Koch 

Nov. 15Bank 450

Debtors - Ann Koch 

Being collection of debts from Ann Koch  450

The Dent Sign Company 

Journal entries for the year eneded 31 December 2008
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		The Dent Sign Company 

		Journal entries for the year eneded 31 December 2008

		Date 		Details 										Dr.		Cr. 

		2008												$		$

		Aug. 1		Allowance for doubtful debts 										1,000

						Debtors - Ann Koch 										1,000

				Being uncollectable debts from Ann Koch 



		Sep. 12		Allowance for doubtful debts 										4,000

						Debtors - Joe Yates 										4,000

				Being uncollectable debts from Joe Yates 



		Oct. 10		Debtors - Ann Koch 										1,000

						Allowance for doubtful debts 										1,000

				Being the doubtful debt recovery 



		Oct. 10		Bank										550

						Debtors - Ann Koch 										550

				Being collection of debts from Ann Koch 



		Nov. 15		Bank										450

						Debtors - Ann Koch 

				Being collection of debts from Ann Koch 												450
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Part (1)

Date Details  Dr. Cr. 

$ $

( 1 ) Bank 300,000

Accumulated Depreciation - Engine A (200*10,000) 2,000,000

Loss on disposal - Engine A  6,700,000

Fixed Assets - Engine A  9,000,000

Being disposal of Engine A 

( 2 ) Fixed Assets - Engine C (10,000,000+500,000+300,000) 18,000,000

Bank  18,000,000

Being purchase of engine C 

Insurance expenses (360,000 * 10/24) 150,000

Prepaid insurance(360,000 * 14/24)  210,000

Bank  360,000

Being a two-year insurance policy paid

( 3 ) Maintenance Cost  3,000,000

Bank  3,000,000

Being the maintenance cost for engine B to restore working capacity 

( 4 ) Fixed Assets - Interior cabin fittings  11,000,000

Bank  11,000,000

Being improvement of facilites for interior cabin fittings

Part (2)

Date Details  Dr. Cr. 

$ $

( a ) Provision for depreciation - Exterior structure (300,000,000-57,000,000)*10%24,300,000

Accumulated depreication -Exterior structure  24,300,000

Being depreciation of engine B for year 2009

( b ) Provision for depreciation - Engine C (500*3,000*10/12) 1,250,000

Accumulated depreication - Engine C 1,250,000

Being depreciation of engine C for year 2009

( c ) Provision for depreciation - Engine B[(7,000,000-1,000,000)/15,000*3,000] 1,200,000

Accumulated depreication - Engine B 1,200,000

Being depreciation of engine B for year 2009

TravelLeisure 

Journal entries for the year eneded 31 December 2009

TravelLeisure 

Journal entries for the year eneded 31 December 2009
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		Part (1)

		TravelLeisure 

		Journal entries for the year eneded 31 December 2009

		Date 		Details 										Dr.		Cr. 

														$		$

		( 1 )		Bank										300,000

				Accumulated Depreciation - Engine A (200*10,000)										2,000,000

				Loss on disposal - Engine A 										6,700,000

						Fixed Assets - Engine A 										9,000,000

				Being disposal of Engine A 



		( 2 )		Fixed Assets - Engine C (10,000,000+500,000+300,000)										18,000,000

						Bank 										18,000,000

				Being purchase of engine C 



				Insurance expenses (360,000 * 10/24)										150,000

				Prepaid insurance(360,000 * 14/24) 										210,000

						Bank 										360,000

				Being a two-year insurance policy paid



		( 3 )		Maintenance Cost 										3,000,000

						Bank 										3,000,000

				Being the maintenance cost for engine B to restore working capacity 



		( 4 )		Fixed Assets - Interior cabin fittings 										11,000,000

						Bank 										11,000,000

				Being improvement of facilites for interior cabin fittings



		Part (2)

		TravelLeisure 

		Journal entries for the year eneded 31 December 2009

		Date 		Details 										Dr.		Cr. 

														$		$

		( a )		Provision for depreciation - Exterior structure (300,000,000-57,000,000)*10%										24,300,000

						Accumulated depreication -Exterior structure 										24,300,000

				Being depreciation of engine B for year 2009



		( b )		Provision for depreciation - Engine C (500*3,000*10/12)										1,250,000

						Accumulated depreication - Engine C										1,250,000

				Being depreciation of engine C for year 2009



		( c )		Provision for depreciation - Engine B[(7,000,000-1,000,000)/15,000*3,000]										1,200,000

						Accumulated depreication - Engine B										1,200,000

				Being depreciation of engine B for year 2009
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Date Details Dr. Cr.

$ $

Jan. 2 Land 160,000     

Building 130,000     

Ordinary Share Capital

($15 * 4000 shares)

60,000       

Share Premium 230,000     

Feb. 5 Dividend 40,000      

Dividend Payable 40,000       

Mar. 9 Dividend Payable(Cumulative) ($10 * 8% * 2 yrs * 3000 shares) 4,800        

Dividend Payable(Non-cumulative)($20 * 10% * 5000 shares) 10,000      

Cash 14,800       

May. 10Treasury Stock

($25 * 1000 shares)

25,000      

Cash 25,000       

May. 20Cash 15,000      

Treasury Stock

($25 * 500 shares)

12,500       

Paid-in Capital from Treasury Stock 2,500         

Jun. 15 Machine 14,000      

Treasury Stock

($25 * 500 shares)

12,500       

Paid-in Capital from Treasury Stock 1,500         

Jul. 19 Dividend

($15 * 10% * 104000 shares)

156,000     

Dividend Payable 156,000     

(10% dividend is based on par, not market value)

Jul. 25 Dividend Payable 156,000     

Cash 156,000     

The Journal
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		The Journal

		Date		Details								Dr.		Cr.

												$		$

		Jan. 2		Land								160,000

				Building								130,000

						Ordinary Share Capital				($15 * 4000 shares)				60,000

						Share Premium								230,000



		Feb. 5		Dividend								40,000

						Dividend Payable								40,000



		Mar. 9		Dividend Payable(Cumulative)						($10 * 8% * 2 yrs * 3000 shares)		4,800

				Dividend Payable(Non-cumulative)						($20 * 10% * 5000 shares)		10,000

						Cash								14,800



		May. 10		Treasury Stock						($25 * 1000 shares)		25,000

						Cash								25,000



		May. 20		Cash								15,000

						Treasury Stock				($25 * 500 shares)				12,500

						Paid-in Capital from Treasury Stock								2,500



		Jun. 15		Machine								14,000

						Treasury Stock				($25 * 500 shares)				12,500

						Paid-in Capital from Treasury Stock								1,500



		Jul. 19		Dividend						($15 * 10% * 104000 shares)		156,000

						Dividend Payable								156,000

				(10% dividend is based on par, not market value)



		Jul. 25		Dividend Payable								156,000

						Cash								156,000
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(a)Receivables Turnover= Credit Sales / Average Receivables

= $7,000,000 / $700,000

= 10 times

= Average Receivables / Credit Sales * 365 days

= $700,000 / $7,000,000 * 365 days

= 1/10 * 365 days

= 36.5 days

$ $

(b)Sales 7,000,000     

Less:Cost of Goods Sold

Beginning Inventory 482,000        

Add: Purchases 5,636,000     

6,118,000     

Less:Ending Inventory

(Balancing figure)

518,000         5,600,000     

Gross Profit ($7,000,000 * 20%) 1,400,000     

Average Inventory = (Beginning Inventory + Ending Inventory) / 2

= ($482,000 + $518,000) / 2

= $500,000

Inventory Turnover = Cost of Goods Sold / Average Inventory

= $5,600,000 / $500,000

= 11.2 times

Days in Inventory = (Average Inventory / Cost of goods sold) * 365 days

= $500,000 / $5,600,000 * 365 days

= 32.60 days

(c) = Net Income / Average Common Stockholder's Equity * 100%

= $525,000 / $3,500,000 * 100%

= 15%

Average Collection 

Period

Return on Common 

Stockholder's Equity
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		(a)		Receivables Turnover						= Credit Sales / Average Receivables

										= $7,000,000 / $700,000

										= 10 times

				Average Collection Period						= Average Receivables / Credit Sales * 365 days

										= $700,000 / $7,000,000 * 365 days

										= 1/10 * 365 days

										= 36.5 days

																$				$

		(b)		Sales																7,000,000

				Less:		Cost of Goods Sold

						Beginning Inventory										482,000

						Add:		Purchases								5,636,000

																6,118,000

						Less:		Ending Inventory						(Balancing figure)		518,000				5,600,000		(Balacing figure)

				Gross Profit								($7,000,000 * 20%)								1,400,000





				Average Inventory						= (Beginning Inventory + Ending Inventory) / 2

										= ($482,000 + $518,000) / 2

										= $500,000



				Inventory Turnover						= Cost of Goods Sold / Average Inventory

										= $5,600,000 / $500,000

										= 11.2 times



				Days in Inventory						= (Average Inventory / Cost of goods sold) * 365 days

										= $500,000 / $5,600,000 * 365 days

										= 32.60 days

		(c)		Return on Common Stockholder's Equity						= Net Income / Average Common Stockholder's Equity * 100%

										= $525,000 / $3,500,000 * 100%

										= 15%
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(a)

$ $

Bnak balance as per cash book 957

Add:

Interest earned (Item 3) 8

Collection of note receivable (Item 4) 960

Unpresented check by the companies ($3,021+$200) (Item 5) 3,221

Cash book error (Item 7) 9 4198

5,155

Less:

Debit memo for service charges (Item 1) 115

Returned check due to insufficient fund (Item 2) 100

Uncredited check (Item 6) 1,450

Bank error (Item 8) 100 1,765

Bank balance as per bank statement  3,390

(b)

Date  Details  Dr. Cr. 

$ $

( 1 ) Bank service charge  115

Bank 115

Being bank service charge for check accounting and printing 

( 2 ) Debtors  100

Bank 100

Being check returned by a debtor

( 3 ) Bank 8

Interest earned  8

Being interest earned for the year 

( 4 ) Bank 960

Collection fee for note receivable  50

Interest earned  10

Note receivable  1,000

Being the transaction of note receivable 

( 5 ) (N/A

No journal entry is needed

( 6 ) (N/A

No journal entry is needed 

( 7 ) (Cash  9

Sales  9

Being cash sales understated in cash account 

( 8 ) (N/A

No journal entry is needed

Bank reconciliation statement as at 31 August 2009

ABC Company 

ABC Company 

Bank reconciliation statement as at 31 August 2009
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		(a)		ABC Company 

				Bank reconciliation statement as at 31 August 2009

																$		$

				Bnak balance as per cash book														957

				Add:

				Interest earned (Item 3)												8

				Collection of note receivable (Item 4)												960

				Unpresented check by the companies ($3,021+$200) (Item 5)												3,221

				Cash book error (Item 7)												9		4198

																		5,155

				Less:

				Debit memo for service charges (Item 1)												115

				Returned check due to insufficient fund (Item 2)												100

				Uncredited check (Item 6)												1,450

				Bank error (Item 8)												100		1,765

				Bank balance as per bank statement 														3,390



		(b)		ABC Company 

				Bank reconciliation statement as at 31 August 2009

				Date 		Details 										Dr.		Cr. 

																$		$

				( 1 )		Bank service charge 										115

								Bank										115

						Being bank service charge for check accounting and printing 

				( 2 )		Debtors 										100

								Bank										100

						Being check returned by a debtor

				( 3 )		Bank										8

								Interest earned 										8

						Being interest earned for the year 

				( 4 )		Bank										960

						Collection fee for note receivable 										50

								Interest earned 										10

								Note receivable 										1,000

						Being the transaction of note receivable 

				( 5 )		(N/A

						No journal entry is needed

				( 6 )		(N/A

						No journal entry is needed 

				( 7 )		(Cash 										9

								Sales 										9

						Being cash sales understated in cash account 

				( 8 )		(N/A

						No journal entry is needed








